Rozvoj funkce f(x) = e* v okoli bodu zp =0 5.
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do Taylorova (Maclaurinova) polynomu
ct+——"——7— — — — I
stupné n =1, ...,0. |
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| e = 2,718281828 chyba
2 i
| T1(0) = 2 0.718281828
| 75(0) = 2.5 0.218281828
| T3(0) = 2.6 0.051615161
1.5- . T4(0) = 2.7083 0.009948495
| T5(0) = 2.716 0.001615161
| T5(0) = 2.71805 0.000226272
! | T7(0) = 2.718253968  0.000027860
| T5(0) = 2.718278770 0.000003058
| Ty(0) = 2.718281526  0.000000302
I
05 | T10(0) = 2.718281801 0.000000027
| T11(0) = 2.718281826 (0.0000000021
| T12(0) = 2.718281828 (.0000000000
I
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